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1.

Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. -Marks are indicated against each question.

4. Attempt all parts of a question together.

5. '‘Simple calculator is allowed.

6. Log and annuity tables may be provided on demand.

7. Answers may be written either in English or Hindi; but the same medium should-
be used throughout the paper.
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PART - A (31 &)

Identify the major Financial Management decisions for a Business and discuss
thetr inter-relationships. (10)

What do you mean by Financial Break Even Point? How is it
calculated ? | ©)

OR

Explain the following with suitable examples :
(1) Compounding

(i) Discounting (10)

“Money has a time value” do you agree ? Illustrate your answer. (5)
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PART -B (s@1 @)

A firm’s cost of capital is 10%. It is considering two mutually exclusive projects
X and Y. The details are given below :
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Pfoject Y -

Years.. . Particulars Project X
(Rs.) (Rs.)
0 Investments 8,40,000 6,40,000
1 Net cash inflows 1,20,000 1,20,000
2 -2,40,000 80,000
3 ' 3,60,000 1,40,000
4 . 4,90,000 1,20,000
5 5,12,000 1,20,000
6 _ . 3,30,000 2,10,000

Examine which of the projects would be profitable using the following methods
of ranking investment proposals;

(i) Payback period,
(1) Net present value
P.V. factor at 10% for 6 years is as follows :
Year_ 1 2 3 4 5 - 6 _
PVE  0.909 0.826 0.751 0.683  0.621 0.572 as)

OR

(a) What is cost of Capital ? How is it important in financial decision-
making ? (10),

(b) A company issues 5,00,000, 10% redeemable debentures to be redeemed
after a period of 5 years. The floation cost of issuing debentures amount to
4% of face value. Tax rate is 35%. Compute the cost of debt. (5)
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g foraor qRAAT X g Y
| () (x)
0 P 8,40,000 6,40,000
1 g I waE 1,20,000 1,20,000
2 2,40,000 80,000
3 - 3,60,000 1,40,000
4 4,90,000 1,20,000
5 5,12,000 1,20,000
6 3,30,000 2,10,000
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a4 1 2 3 4 5 6
PVF 0909 0.826 0.751 0.683 0.621 0.572
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3. (a) From the following information :

Firm A Firm B
Sales Rs. 20,00,000 Rs. 30,00,000
Variable cost 35% of sales 40% of sales
Fixed Cost Rs. 5,00,000 Rs. 7,00,000
Interest Rs. 1,00,000 Rs. 1,25,000

Calculate Financial Leverage, Operating Leverage, and Combined Leverage.

(10)
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5
(b) What will be the % change is EBIT, If sales increase by 10%. (5)
OR

(a) What factors are to be considered while planning the capital structure of a
business organization ? - ~(10)

(b) If debt is a cheaper source of finance, then why are organizations not fully
(100%) financed by debt. Explain. (5)
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fasft Rs. 20,00,000 Rs. 30,00,000
wRad s 35% R & 40% R W
g Rs. 5,00,000 © Rs. 7,00,000
ST Rs. 1,00,000 Rs. 1,25,000

(@) EBIT ¥ wfowm qRad = 3wn afe el 10% w& ot 27
Jreran

(), v e dne @t It we mmwﬁwmmmm |
S whfRY ?

(@) ik =, faa =1 v wa A 2 @ w0 W § B EeA A =0 B W@ W
T (100%) o W & S B ? =wen iR |

PART - C (W@ )

Explain the factors detérmining the dividend policy of a company. =~ (15)
OR
You are given the following information about a company :
Cost of capital 1 10%
Rate of return on investment  : 15%
Earnings per share :Rs.5

The company has 10 lakh equity shares of Rs. 10 each. Use Walter’s model to
determine the value of the firm under the following conditions :
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(1} If 100% of profit is retained.
(i) 1f 50% of profit is retained.

(i) If no profit is retained.

(15)
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What is the significance of working capital for a manufacturing firm ? What are
the consequences of shortage & excess of working capital ? Explain. (15)

OR
Write short not.e'sro_n any two of the ‘followi-ng :
-(1) Operating Cycle
(i) Motives for holding cash

(iii) Costs of Receivables (T%+7%)
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